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Note-
1. All questions are compulsory.

2. Figures to the right indicates maximum marks.

]

Q1 (A) : Read the following extract and answer the questions given below: (11M)

.............. The first requirement for a city is pragmatic Rlan. Many of our cities such as delhi and

iri ave reasonably good master plans. Many also have
City Development Plans which have been an essential requirement to draw funds from the
government's Urban Renewal programme (JNNURM). But they should be updated frequently based on
the changing needs of its people.

.............. And let's not forget its citizens - they need to be more pro-actively involved when involvin
master plans. But often, there's lack of planning and inadequate implementation systems. This apg ies
to all essential components of a city-streets, public trabsport system, traffic management, affordable
housing, cars and parking drainage,water supply, sewerage and garbage. Any deficient in these will lead
to pgor quality cities which won't be able to handle the pressure of increased population and changing
needs.

«oeeeeeeee. The second requirement of a good city is good social infrastructure such as parks and places for
leisure such as river and sea fronts. It needs to preserve and protect its heritage. We are a nation with

rich diversity in culture, arts and crafts and cities are great platforms for that, given the right facilities.
And let's not forget good and affordable educational and healthcare facilities too.

developed cities around a bicycling infrastructure, creating a complete culture and around them which is
humane and ecological. There is Tokyo, the world's most populous city, which has a metro system used
1. What do many of our cities have in addition to good master plans? (1M)

2. How have Singapore and Shanghai manages to improve tthe quality of life of their citizens?(2M)

3. Why should the plans of a city be updated frequently? (2M)

4, Gi\(re the two examples to prove that the needs of people of today are different from those 20 years
ago. (2M)

5. Rewrite the following sentences in the ways instructed.

(i) It needs to preserve and protect its heritage. (1M)

............................ (use a modal auxiliary showing obligation)
(i) The first requirement of a city is a Pragmatic Plan. L R S e (Rewrite using Verb form of

the underlined word)
(iii)Any deficiency in these will lead to poor quality cities. (1M)

.......................... (Rewrite using 'if")
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6. Give the words from the passage that mean: (1M)
(i) Practical.

(ii) Showing concern and kindness towards others, 3

B - GRAMMAR: (DO AS DIRECTED). (5M)

(i) It is Paradoxical that ............. average consumer ;:an not decide which technology will offer........
highest standard of water purification.(Fill in the blanks with appropriate articles) 1M

(i) The lady took the girls........ - a hall where they met a few more girls who were waiting........... her
instructions. (Fill in the blanks with suitable prepositions) (1M) _ :

(iii) Can you suggest me a good hotel? Mr David asked the taxi driver." Yes, | will. It's very close to the
railway station," Said the taxi driver. (2M)

(V)i tutna rain tomorrow.(use a modal auxiliary showing 'possibility'). (1M)

Q2(A). Read the following extract and answer the questions given below: (’ ?'J
Old women do not fly on magic wands ‘ '
nor make obscure prophecies

From ominous forests.

They just sit on vacant park benches

in the quiet evenings,

call doves by their names _

and charm them with grains of maize

Or, trembling like waves

they stand in endless queues in

government hospitals

or settle like sterile clouds *

in post offices awaiti‘ng mail

from their sons abrc)ad,

long ago dead.

Questions-

1. How do the old women spend their evening? (1M)

2. How do you take care of your grand parents? (2M)

3. 'trembling like waves'. Explain the figure of speech in this line. (1M)

4. Complete the following statements by choosing the best alternatives :

Old women Sit.....ccccvuveverennnnn. in the quiet evenings. (1M)
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(i) in the chair
(ii) in the verandah
(iii) on vacant park benches.

5. Pick out any two pictorial images from the first 10 lines of this extract. (2M)

3

(B) Read the following extract and complete the pie-chart given below- (5M)

............. There are various expenditures incurred in publishing a book. The paper used for printing a
book takes up the biggest chunk of about 25% of the total cost, closely followed by the binding and
grintin_g costs, both of which take up 20% each. Royalty, that is the money given to a writer for writing a

ook, is about 15%. However, after the book is printed, it has to be suitably promoted so that there is
eager audience fcr it. This takes up about 10% of the pie. The last bit of expense incurred is for

tlroaozsportation - ready to be read books have to be transportad to various outlets. This makes a dent of

Expenditure incurred in publishing a book

- fa 0
BT ~

- iy 9

,/ 25%(paper)

h ™

N.h.‘"'"----. ‘-—"—/' . .
Q3 (A) Read the followinf extract carefully andrewrite it from the point of view of the Daisy.

(M)

On the following morning, when the flower once more stretched from its tender petals, like little arms,

towards the air-and iight, the daisy recognised the birds voice, but what it sang sounded it so bad.

Indeed the poor bird had good reason to be sad, for it had been caught and putinto a cage closed by the

open window. It sang of the happy days when it could merrily fly about, of fresh green corn in the fields,

and of the time when it could soar almost up to the clouds. The poor lark was most unh::;:py asa

prisoner in a cage. The little daisy would have like so much to help it, but what could be done? Indeed

that was very difficult for such a small flower to find out. It entirely forgot how beautiful everything ’ 7(
around it was, how warmly the sun was shinjdnd how splendidly while its petals were. It could only ef Hhimk e
the poor captive birds, but it could do nothing. :

Q4 (A). Read the following advertisement and prepare a letter of application for it. Use the information
in the CV provided: (5M) ;

Situation vacant
Medical }epresentative

Candidate must be a science graduate,
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fluent in English, Hindi, Marathi.
Experience holder preferred.
Write giving full details to:
The Manager Johnson & Johnson Pharmaceuticals,
Nagpur- 440002
CV (Resume)
Name - Gopal Sawant
Address - 201, mini co-op housing society, Shaila Baug, Nagpur- 440002.
Education - B.Sc (Chemistry) 1st class (65%) PKS College Nagpur.
Experience - Two years as medical representative, Bio Pharma, Nagpur.
Languages known - Marathi, hindi, English.
OR

Write a letter to a social welfare organisation seeking financial help for continuing your studies.

(B). Pre?are)a short tourist Leaflet about any hill station you like the most with the help of the following
points: (4M

How to reach there
Where to stay
- Places worth visiting
Most suitable time to visit
Shopping attraction
QS. (A} Information Transfer. (4M)

Read the following tabular data of the nutritional value per 100 grams of edible Fortiou of the
vegetables and fruits and write a short paragraph camparing their nutritional value in about 120 words -

Nutritional value of Vegetables and Fruits

Vege't:?‘t:ilgs and | Calcium-mg Iron - mg Vitamin - A Vitamin - B Vitamin - C
U mg mg
( glr.e(e; ;elira'sw 500-600 | 129 500-1000 0.10 99
vegetables
[ 2- Cauliflower 33 15 51 0.01 6
3- Green Peas 20 e 1.5 T 139 0.01 Nil
4 - Pipple 9 1.0 0 0.12 ‘ 2
5-Guava 10 1.4 0 0.03 212

Note - mg - MilliGram, IU - International Unit of measurement

(B) Prepare a set of about 8 questions to interview a woman in a nldesos hmma (AR AL
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'NOTE- 1) All the questions are compulsory

2) Figures to the right indicaté full marks

Time-1.5hr : Marks-50

Q1)A) Fill in the blanks-

1) Observe if A proposition is Proposition.(A/E)

2) If A proposition true then its contrary E is {true/false).

3) Shorter truth table is a method.(Direct/Indirect)

4) Individual stand for a specific individual.

5) No bananas are yellow is proposition.(E/O)

6) Both subject and Predicate are undistriputed in proposition.(E/I)

B) True or False-

1) A proposition stands for particular affirmative Proposition.

2) Both the subject and Predicate term of E proposition are distributed.
3) conjunction is false only when both its conjuncts are false.

4) " P=is a tautology.

5) The rules of Ul and El are used to drop the quantifiers.

Q2)A) Use the method of indirect proof to verify that the following
are tautologies-

1)Sv(S>59)
2){R>S)v(SDOR)

B) Use the method of Indirect Proof to prove the validity of following
arguments

1)i)Av (B.C)
iiAD>C e

2))P>Q :
ii)PvR /. .QvR

(6}

(6)

(6)

@)
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C) Construct formal proof of validity for the following arguments involving

1)i) (x) (Mx D Sx)
ii) Ma
iii) Ta J. 58T

2)i) (x)} (Cx D Ix) : ]
i) (x) (Ix D Hx) /e «(x) (CxD Hx)

Q3)A) Give Converse of following

1) No fruits are bitter

2) Some men are not honest
3) All bananas are yellow

4) Same fruits are sweet

B) Give obverse of the following

1) Some mangoes are nat ripe
2) All men are wise

3) Some singers are dancer

4) No philosophers are politician

C) Give appasition of the fallowing propasitians

1) Some flowers are red. (Contradictory and Sub-altern)
2) All animals are wild. (Sub-altern and Contrary)

3) No rabbits has horn. (Sub-contrary and Sub-altern)
4) Soame men are honest.(Sub-altern and Cantrary)

Q4) Distinguish between (any one)

1) Proposition and Propositional
2) Singular Propastion and Guneral Propasition

"

(6)

(4)

(8)

(6)
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_NOTE: 1. All questions are compulsory
2. Figh res to the right indicate full marks.
Q1. A] Fill in the blanks by choosing the correct alternatives given below:- (05)

1. History is an unendmg dialogue between the past and present was stated by
a. EH.Carr b. Benetto Croce

2. The science which studies door writing and carved writings is known as _ !

~a. Paleograghy b. Graphology

3. Paper was invented in i
a. Japan ~ b.China

4. The first newspaper in Marathi was
a. Kesari b. Darpan

8 is situated at Konark.
a. Shiva temple b. Sun temple

' B] Match the following pairs A with B suitably:- (05)
A B

Sigillography a. English-Marathi dictionary

Epigraghy b. Telephone

Dr William Carrey c. science which studies seals and stamps

Graham Bell d. Dadasaheb Phalke

Raja Harishchandra e. British Historian
f. science which studies inscriptions

“mkh WD -

Q2. Answer the following in one sentence each:- ‘ _ (08)

Who said History is the bridge which connects the past with present?
Name the missionary who published the Marathi-English dictionary.
In which language did Pandita Ramabai translate the Bible?

Who wrote the Samvad Kaumudi?

Who invented television?

Who wrote the mythological drama ‘Sita Swayamwar’?

What is Chaityagraha?

Where is Bibi ka Magbara situated?

60 =1 On LRI

. Page1of2

L0 BxEZ
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Q3. Write short notes in 40-50 words (any 3):- ' 12)

Applied history.

Works of Dr William Carrey.

How is history applied in Television.
4, Qualities of a Tourist Guide.

WS

_Q4. Answer the following questions with the help of given points (any 1):- (10)

1. The correlation of the past and the present.
a. Remembering the past happenings and the teachings.
b. Non-ending dialogue between the present and the past
c. Present day problems are solved
d. The study of knowledge acquired from the past.
OR
2. Explain the Role of Cinema.
a. Entertainment
b. Social Awareness
c¢. Job Opportunities
d. Personality Development.

QS. Answer the following questions in about 250 words approximately (any 1):- (10)

1. Explain the Importance of preservation of Historical Monuments and structures.
_ OR
2. Explain the work done by newspapers.

Page20f 2
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NOTE: 1. All questions are compulsory

2. Figures to right indicate full marks.

Q1 AJFill in the blanks with suitable alternatives:

1A community is relatively large in size.
a)Rural b)Urban

2. is the main problem of the tribal people.
a)Poverty b)Exploitation

3. Caste is based on »
a)Birth b)Power

4. Endogamyisa of marriage.
a)Form b)Rule

5. The dowry Prohibition Act was passed in the year
a)1961 b)1971.

B) Match the column:

1.2005 ; Rural community

Z.Marfiage Nuclear family
3.Varna system Domestic Violence Act
4.Urban community Brahmins

5.High social position Social approval

Q2. Answer the following in one sentence each:-

1.What is the impact of Buddhism?

2.State any 2 causes for declining death rate.
3.Define family.

4.What is dowry?

> (05)

(05)

(08)

170 % 2



. ‘f | " SJA 710190 MM :°50 [PAGE 2] HRS : 1.30

5.Mention any 2 problems of working women.
6.In which community do we find slums?
7.What is the meaning of population education?

8.State any 2 reasons for domestic violence.

Q3) Distinguish Between (any 3) (12)
1.Tribal community and Rural community.

2.Under population and Over population.

3.Endogamy and Exogamy.

4.Patriarchal family and Matriarchal family,

Q4)Answer the following questions in 200-250 words each:- (10)
1.What are the causes and consequences of gender inequality?
OR

2.State the problems of urban community and suggest remedial measures.

Q5) Answer the following questions in 250 words each:- (10)
1.Explain with examples the changes that have taken place in the institution of marriage.
OR

2.Discuss the causes of farmers suicide.Suggest suitable measures to solve them.
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Q.I. (A) Fill in the blanks 4
1. When MU is TU decreases. ( Positive/Negative/Zero/high)
2. Indirectdemand is also known as demand. ( direct/de rived/composite/Joint )
3. Monopoly means ( single seller/several se ller/single buyer/several buyer)
4, is regarded as primary factor of production. ( Land/Labour/Capital/E_ntrepreneur)
Q.l. (B) State whether the following statements are true or false. 4
1. Demand for Labour is direct demand.
2. In Monopoly market the firm and industry are the same.
3. Micro economics deal with the Allocation of Resources
4. Utility isthe basis of demand.
Q.. (C) Match the Column 4
GROUP - A GROUP -B
1. Micro Economics a) MaximumTu
2. Point of Satiety b) Inverse relation
3. Demand and Price c) Individual Units
4. Stock d) Potential supply
Q.ll. (A) Define or Explain the following. (any 2 ) 4
1. Micro Economics 2. Unitary Elasticity of Demand. 3.Stock. 4. Capital.
Q.Il (B) Distinguish Between. (any 2) 6
1. Total Utility and Marginal Utility.
2. Stock and Supply.
3. PerfectlyElasticdemandand Perfectly Inelasticdemand.
4. PerfectCompetitionand Monopoly
Q.lll. Answer the Following (any 3) 12
1. What are the features of Micro Economics ?
2. What are the Types of Utility?
3. Explainthe factorsaffecting demand ?
4. What are the features of Monopoly Market?
5. What are the features of capital ?
Q.IV. Short Notes (any2) _ 8
1. Relationship between Total Utility and Marginal Utility.
2. Features of Perfect Competition.
3. Types of Capital
4. Scope and Subject Matter of Micro Economics
Q.V. Answer in Detail ( any 1) 8

1. Explain the Law of Demand with its Exception.
2. What are the Types of Price Elasticity of Demand.
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SYIC - P.T EXAM

Roll No Seat No
Contact No Regular (25)
Q1 a) Fill in the blanks =i (2)

(1) Gagang Narang is an International player
(Shooting, Badminton, Cricket)
(2) is the Captain of Indian Cricket Team.
(Virat Kohli,Ishant Sharma,Rohit Sharma)
(3) The full form of BMI is.
(Body Mass Index, Body Muscle‘rnformation,.Brain Muscle Intensity)
(4) Sakshi Malik represented India in ' game.
{Judo, Boxing, Wrestling)

b) Match the Column (any 4) | ' | 2)
(1) Protien (a) Badminton
(2) P. V. Sindhu (b) mind and soul
(3) Dipa Karmakar {c) Nutrition
(4) Yoga (d) Athletics
(5) Vikas Gowda "~ (e) Gymnast
c) True Or False ' (2)

1. Rahul Dravid is Called as # The Wall
2. Running is an Athletic Event
3. Football game is played for 3 hours
4. BMI means Body Mass Index

Q.2 Answer in one sentence (5)

1.- Waist Hip Ratio

2. Name any 4 Olympic players of India

3. Whay is THR?

4. What is Nutrition?

5. What do you mean by PRANAYAMA




(Q.3)Define the following ' _ (4)
(1) Write about Fitness '

(2) Write about FootballMatch Timing

(Q4) Answer Briefly | (4)

1. Importance of Physical Activity in dav-toda'y life

2. Write about Fitness in your own words

(Q5) Write Short Notes

(6)
1. Draw and Label the figure of a Hockey Ground
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NOTE - 1) All the questions are compulsory

2) Figures to the right indicate full marks

¥

Time-1.5hr Marks-50

Q1)A) Fill in the blanks- (6)

1) is the knowledge of reality. (philosophy/Emperical)

2) The Sanskrit term for is darshan.(Philosophy/Ethics)

3) believes in reason as the valid source of knowledge.
(Rationalist,Empericist)

4) Only sentences express knowledge.(declarative,interrogative)

5) connects truth of a proposition with human actions.
(Pragmatism,Coherence)

6) For there is no ultimate truth.(William James,Nyaya Darshan)

B) True or False- (6)

1) A Statement is different from a Proposition

2) Pragmatism hold that the utility of an action determines is truth.
3) Sound is the Quality of Ether.

4) In Indian tradition is the ultimate aim of philosophy is Moksha.
5) Descartes is rationalist.

6) Knowledge by perception is always true.

C) Match the following - (4)
1) Tatlavajnyana a)Geometrical

2) Hume b) Knowledge of Brahman

3) Descartes ¢) Monad

4) Leibniz d) Skeptic

110 B x&
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Q2)A) Distinguish between(any one)- (4)

1) Philosphy and Religion
2) Perception and Testimony

B) Give philosophical term- (4)

1) Justified true belief.

2) What the individual does with his solitariness.
3) Knowledge that arises after perception.

4) A sentence which is either true or false.

Q3) Answer the following (any three) (6)

1) Why does Aristotle define Philosophy as Knowledge of Truth?
2) What is meant by Esse est Percipii?

3)What is deduction?

4) What is Pragmatism?

5) What is Udaharana?

Q4) Write short note on- (8)

1) Coherence theory of Truth?
2) How does Berkeley put forth his Empericism?

Q5) Answer the following in detail- | (12)

1) What are the objections raised against correspondence theory
of truth?
OR
2) Explain Rationalism and its Characteristics. Explain Descartes
Rationalism in detail.




